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:Jall
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1 1 1
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1 1
=13 [sina(x —w)]t, = i [sina(x— 1) —sina(x + 1)]
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a 2 2
2 2
= —Ecos ax sin(—a) = Ecos axsina ; sin(—a)=-—-sina

rand f (o) aolill Anyed JalSS dapa B (aneailly

2 (Ccosaxsina
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s J<all
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ro) A
(T .
— if x| <1
®cosax sina 2
j da =<7 . —1
0 a — if |x| =

| 4
0 if |xI>1
bl salay) a5 QI YY) 5580 Bhladl 4 x =0 puas

raad (4l
J‘”sina T
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:(2) Aaada

2+ 4 Say il ST Gl o s G [ b =2 il
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t0) 6l ¢ Al pad ad x Lexie Si(x)

“sina *sina
f da = lim da = lim Si(x)
0 a X—00 0 X—00
:(3) Jua
raalil) an)sd JalShy Jia
1 if o0<x<l1
1
fx) = 3 if x=0o0rx=1
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:Jadl
taasd JalSS Arpa (Bukly
1 (0 0] [0.e]
f(x)=;f <] f(u)cosa(x—u)du)da
0 —00
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1 (® ! 1 (@ [sina(x —w)]"
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2 [ Sin=cos a(1-2x)
f(x)=—f 2 da ; Vx€ER
T ), a
U] b oe S8 8 SEOHER =) o kel
x=1,x=0

() bl agysh Jolal Lalal) VY immy (V1 oyl
Lo ,llg g I ailgild 4 y98 foliT (2-4)

(Fourier Integral for odd and even Functions)
tol @ dad (S5 laga ¢ Jcosax| <1 o L
L L
f |f(w) cos auldu < f |f (w)|du
-L i
S ((~00,00) Jlaall e Tillae ALalSall DLl £(x) gt (IS 13 caiag
Jalill (6 alie ISy dasase 05 [0 f(w) cos audu Jixall Jalsil
Az lasase [7 f(w) sinaudu
tol L
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1aad (2) asd JalSi A 8 Gangail) dayg

f(x) = %.[000 (f_oof(u) cos au du) cos ax da
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A Wl agy ol Lad s fw)cosau b dlag) fa) ) oK 134
s il o2 sed £ (1) sin au
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flx) = j [A(a) cos ax + B(a) sin ax]
0

cCua

-

1 [ 1 (@ |
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:(3) AaaNa
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j f(w) sinaudu = J u.sin au du
0 0
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1 L 11 —Lcosal sinal
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o @Jo a a

ton il lill 4y JalSs o aad (5) ANl GGaday
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:(5) Jua
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Jalal)
® cos ax
jo a? + k? dx
:Jall
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f(x)—;f() (fo f(u) cosau u)cosau a

: AR1A JalSl Yyl )

sz f(u) cos au duzf e ® cos au du
0 0

an ol (e A5 iphas AL
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Pga arall AUl g8 JalSS 8 cada
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(Complex form Of Fourier integral)
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fx) =— ( f f W) (el 4 gialx- u>)du> a
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L) 3lsloal) (3883 aas — = z Lay 13 Y
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:(Fourier Transforms) 4g,89 g (3-4)
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x —iax 00 ® 1 (* .
TU_ f(u)du]=[<eia )j_ f(u)du] +aj_ f(x)e @ dx
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3 dx = du diesx —a = u g dua
T[f(x —a)] = e7'**F(a)
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43,819 49l wlall dny99 f1godi (4-4)
(Fourier transforms for odd and even functions)
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P JSEN e o
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(Parseval's identity) |l ,b Ol (5-4)
A s Al Jligesby At : Yl
(Parseval's identity for Fourier Series)
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Jirols Ailaia axi Maie of (x) Bl 4uyd JBal @, A, by 51 = 1,2,
DL f(x) bl

1 L 5 2
o Gy =24 Z(an +b7)
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(Parseval's identity for Fourier integral)
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Tf*gl=T().T(g) = F(a).G(a)
agd 4aysh dasnt elan (gobon s ol b Jisas o) o
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